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* The union of set A and B, denoted by A u B is the set that cont:
all elementsin eithersetAorsetB,ie. AuB={x|xe Aorx
B}.

« The intersection of set A and B, denoted by A ~ B contain all

elements that are commonto both setsie. AnB={x|x € Aan
e B}

AnBE
AUl

1.In a group of students 100 students know Hindi, 5, know English and ,; know both. Each of the students knows either Hindi or English.

How many students are there in the group?

Answer:

Let , be the set of all students in the group.

Consider , be the set of all students who know English.

Consider , be the set of all students who know Hindi.
LHUE=U

Accordingly, n(H) = 100andn (E) = 50
n(HUE)=n(H)+n(E)—n(HnNE)
=100+ 50 —-25
=125

So, there are 125 students in the group.
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2.In a survey of « people, it was found that »; people read newspaper H,26 read newspaper 7,26 read newspaper o read both
HandlI, 11 read both HandT,8 read both Tandl,3 read all three newspapers. Find:

(i) The number of people who read at least one of the newspapers.
(ii) The number of people who read exactly one newspaper.
Answer:

Consider , be the set of people who read newspaper » .

Consider , be the set of people who read newspaper , .

Consider . be the set of people who read newspaper

Accordingly,
n(A)=25n(B)=26,n(C)=26,n(ANC)=9,n(AnB) =11,
n(BNC)=8,n(ANBNC)=3

Consider , be the set of people who took part in the survey.

Answer: (i)

Accordingly,
n(AUBUC)=n(A)+n(B)+n(C)—n(ANB)—n(BNC)—n(CNnA)+n(AnBnC)
=254264+26—-11-8-9+3=52

So, 5 people read at least one of the newspapers.

Answer: (ii)

Consider be the number of people who read newspapers HandT only.
Consider denote the number of people who read newspapers 7andH only.
Consider denote the number of people who read newspapers Tand/ only.
Consider denote the number of people who read all three newspapers.
Accordingly, d=n(AnBnC)=3
Now,

n(ANB)=a+d

n(BNC)=c+d

n(CNA)=b+d

Sat+d+c+d+b+d=11+8+9=28

>a+b+c+d=28-2d =28-6=22

Hence, (52 —22) =30 people read exactly one newspaper.
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